Mixed-up Answers

AN = TN AADC = ABDC Given
AZYX = AXWZ 7 SG = SR
ASA Given Definition of midpoint
All right s are congruent Right 6
CD = CD SAS ASA
8 PN = PN Reflexive
ASA Isosceles 21 =212
D bisects AB SAS ASA
ZX = 7X Scalene Given
Equiangular Obtuse Equilateral
Alternate Interior Angles WX || ZY Reflexive
Right Acute Obtuse
ZW || YX D is the midpoint of AB Scalene
Equilateral Isosceles Equiangular
Given Given 23 =24
2IJY = £IJK or £]JIY = £]IK 5 8
Alternate Interior Angles 23 & £4 are right angles HL
SAS 43 =24 21 =22
ASA Right AAS
Acute Equilateral Equiangular
AANP = ATNP SSS AD = DB
Reflexive Given 11
Definitig_n of segment Obtuse Right
isector
5 Scalene —6




